WT7E-RT12: FORCE V5. TIME GGREAPH—IIPULSE APPLIED TO BOX
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Plvses explisine vour rensoning,

NT70-RT18: COLLIDING CARTS STICKING TOGETHER—FINAL SPEED

In each of the six igures helow, lwo carts laveling in epposite directions are about (o collide. The cans
are all ionticat in size and shape, but they carry dafferent loads and are iniiadly vaveling a differont
speals, The carts stick wgether after the colliston, There is no friction between the carts and the ground.
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Rank these situations on the basts of the speed of the two-cart systems after the collision.
Greatesl 1 -2 ISR JRNNERIL, SEMBSIY, DRPRUITS  TCSTE. o |
OR. The speed 15 the same but not zero for these two-cant svstems after the colfision.
m- spead 15 2ero for these two-cant systems afler the collision,
CHR. We cannol delesmine the rankng for the speeds of These cint systems after the collision,
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NT7D-CCT24: COLLIDING CARTS THAT STICK TOGETHER—F!INAL KINETIC ENERGY
Two identical carls raveling in opposite directions are shown just before they collide. The carts carry
different foads and are initially traveling at diffecent speeds. The cans stick together after the coilision.

20 cmfs 40 cends

Three physics students discussing this sitzation make the Tollowing contentions:

Adexs

“These carts will botl be al rest after the colliyion siace the initial momentam of the svstem iy
zern, did the fisal momentum has to be Zevo alse, ™

Belinda:  “If thal were rue It wonuld mean that they would huve Zero kinefic energy affer the collision

and that would violate conservation of energy. Since the right-hand cari iias more kKinetic
energy, the combined carts will be moviag slowly to the left after the collision.™

Chano: I thiak that after the collision the pair of carts will be traveling feft at 20 emds. That way

conservation of memenium aad conservation of eneray are both satisfied.”

Which. if any, of these three students do you think is correct?
Alex /7 Belinda Chano None of them

Please explain vour reasoning. . LO\:A‘-;
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